Back-to-Back
Stem-and-Leaf Plot

Part A: Complete two back-to-back stem and Leaf-plots utilising one categorical variable from Task One
and two players from a single position for each plot. Use last year's Origin player as one of the two players
selected within that position.

Each stem-and-leaf plot should isolate only one statistic and plot data from each of the 25 rounds from last
year’s NRL season. Two players from the same position will have their data on a chosen statistic compared in
each of the two plots.

Part B: Construct a statement for each Back-To-Back
Stem-and-Leaf plot examining the shape of the

: distribution of data.

= et 3N - — : Utilise terms such as ‘positive skew’, ‘negative skew’
» and 'symmetric' and 'bi-modal'.

Each stem and leaf plot should isolate only one
statistic and plot data from each of the 25 rounds
from last year’s NRL season.

Important Elements:

One player in the comparison must have played in the State of Origin last year
The two players selected must be taken from task 1

Include a comparison of 25 rounds from last year

In your statement ensure the mathematical elements are the focus

In your statement ensure correct terminology is used

Ensure the back-to-back stem and leaf plot has correct headings

Complete the task for two pairs of players






